IV SREERBREIERAAIER

[E2—1])] (=REHEE:3AM. RBRET:38M)
a—R: AH==rhf)— [EREEEH] —SfHF==118
DMVEEITRM: IH<=>=%#% 17.7km

4

BEY): $£—38 258, £=7F 2E AR, FUE 3B (BfI:FFA)
-1 HwE WEE #s
MRS E—RALE—FzP 2,000 2 & 4,000 |3LFFER. & 7%ER
E—RICBIER( 2,745 1= 2,745 | L E7ER(1,500)+ 5= 7RER(1,245)
BU(BRER) 100 27 & 2,700
REg | XEMEE KR 23,850 1= 23,850 [Fayszkie, IvoRILIHE, BREZED
FHERERE 80 4 & 320 | ERER
B ERO—THH 35 30 &R 1,050 [7RZ7ILMRY#F I+
INEE 34,665
ANGEE B |iR1EE 35| 179 A 6,265 |27EFrx ((LA/BERT*3H) xF 2%+ 1 Ax38)
FEHEE (HHEER) 10 90 A 900 |30B A1 A/E %38
RELLIEES 1| 108 A 108 |30& A< (LAxF{H2E]) x3H (REBH)
BEETRL 3000 13 3,000 ﬁg*‘é;é}';géq;@‘igf RBEHE.
Bt 500 2 A 1,000 |FHE(SAM) &L
INEF 11,273
EEEEE 2,500 2 [ 5,000 |FE&+ AET
JRILEEI LR 10,000 1= 10,000 Eﬁgﬁg&ﬁgﬁfﬁi&%ﬁﬁgéfﬁﬁ
HREL. RGEIRAEHMES 0 1= 0 |JRILEERESS
PR% F 1,000 1= 1,000 |[/82 DLk, KB RNEREE
BB IT/AREY £IF 25 65 150 [2&x%3H
BERE 100 1= 100
ERHERTHAEE 5,000 1= 5,000
&5t 67,188
[E2—2)] (mmxEER:3AM. RBRET:38M)
a—R: ZH— [FEMEFihEEE] - Sf%==1%
DMVBITRM: BH%=>I% 17.7km
BEY): $£—738 258, £=3F 2. FUE 3B (BfI:FFA)
-1 HwE WEE &5
MEER RIS E—RAVE—FIT 2,000 1 & 2,000 [E#HER
E—RICBIER(E 3,245 1= 3,245 | & #*BR(1,245)+ L B ER [ D #41(1,000)+F& [58R(1,000)
B (BRI 100 27 &R 2,700 | —7@258 ., =12
REg | XK 23,850 1= 23,850 [Fayszki, IvoRILIHE, BREZED
PR E 80 4 & 320 |k ERER
BYERO—THH 35 30 &R 1,050 [7RZ7ILMRY#F 1+
INEE 33,165
NS B |iR1EE 35| 179 A 6,265 |27EFrx ((LA/BERT*3B) xF 2%+ 1 Ax38)
FEHEE (HHEER) 10 90 A 900 |30B A1 A/E %38
RELLIEES 1| 108 A 108 |30& A< (LAxF{H2E]) x3H (REBH)
BEETRL 3000 13 3,000 ﬁg*‘é;é}';géq;@ié? RRHE.
Bt 500 2 A 1,000 |FHE(SAM) &L
INEF 11,273
EEEEE 2,500 2 @ 5,000 [FAE&+AFEST
JRILBEIAL 10,000 1= 10,000 Eﬁgﬁg&ﬁgﬁfﬁi&%ﬁﬁgéfﬁﬁ
HREL. RGEIRAKHES 0 1= 0 |[JRILEERESS
PR% F 1,000 1= 1,000 |[/82TLyb, KB RNEREE
BB IT/AREY EIF 25 8 & 200 [2&x4H
BERE 100 1= 100
ERHERTHAEE 5,000 1=t 5,000
&5t 65,738




(%&—3a]

(REEESR: 3B . EERET:38M[)
a—R: MH==rhii— [FIREH0IZELE] — S /% — L%

DMVIEfTRE: L% =>rhi 10.5km
Py $£—38 1087, =18 2EAT. FuiE 38T (BfI:FFA)
-1 HwE WEE #s
MEER RIS E—RAVH—FID 2,000 1 &R 2,000 |37 B7ER
E—RICRIER 6,840 1= 6,840 |37 B78R(5,840)+ H#2ER(1,000)
B (BRI 100 12 EFRr 1,200 |5 —#E 108&FF. S5=%8 2& T
REE | XEMEE- KR 17,480 1= 17,480 |Favy R, 7y )V, BEREEESD
PR E 80 1 &Pr 80 |7k 3FEh
KYERO— TR 35 15 &R 525 |7 A7 ILMBUF T
INEE 28,125
A& B |iR1EE 35 80 A 2,800 |12 Frx ((LA/BERTX3B) xF#2E+1Ax38)
FEHEE (HHEER) 10 45 A 450 |15 Ax1A/BEfFx3H
XBLREEES 1 54 A 54 |15@ A< (LAxF{H2E]) x38 (REBH)
BEEETR 3000 1% 3000 (RS TLO BILH. RARTE.
Bt 500 2 A 1,000 |FHE(SAM) &L
INGT 7,304
B @k E 2,500 2 = 5,000 |FB& +AFEST
IRALEEI RN 10,000 1 10,000 Eﬁgﬁ%&ﬁggﬁ%ﬁ%ﬁfﬁéft”
HREL. RGEIRRAEHMES 0 1= 0 |JRILEERESS
PRZ 1,000 1= 1,000 |/82 Lk, KB, AERES
FIE/ITAREY EIF 25 6 & 150 [2&x%3H
BERE 100 1= 100
ERHERTCHEE 5,000 1=t 5,000
&5t 56,679
[E—3b] (®REHELE:3AM. RBRET:38M)
I—X: XH ==K MM EE] —SH —I%
DMVBITRM: ZH=>FKB 4.7km
Y. 55— 3 (BfI:FFA)
-1 HME WEE &5
MEER SRS E—RALVA—FID 2,000 1 &R 2,000 |37 B7ER
E—RICEHEEE 6,840 1= 6,840 |32 ¥78R(5,840)+ K [58R(1,000)
B (BRI 100 3 & 300 | —F& 3EFT
REE | XEEE-RR 2,134 1= 2,134
PR E 80 1 & 80 |7k 3FEh
BOERO—TH R 35 3 & 105 |7 A7 ILMRY#+ 1T
INET 11,459
AG& By |iR1EE 35 20 A 700 |3E AT ((LA/ERT*38) xF 28 +1Ax38)
ZEHEE (RMHEE) 10 9 A 90 |3EFT*1A/EFT*3R
REREIEES 1 1 A 11 |3 AT (LAxF{#2E]) x38 (BREK)
BEEETRD 3000 13t 3,000 ﬁg*‘é%é}';ggq;@ig? RERE.
Bt 500 2 A 1,000 |FHE(SAM) &L
INET 4,801
HEEEE 2,500 2 [@ 5,000 [FRE&+AFELT
JRIALBEI R 10,000 1 10,000 Eﬁ?%éﬁgggfgﬁgﬁj?%;fﬁ”
HREE. RGEIRAKHES 0 1= 0 |[JRILEERERS
PREH 1,000 1= 1,000 |[/82TLyb, KB RNEREE
BB IT/AREY EIF 25 65 150 [2&x%3H
BERER 100 1= 100
ERIHERTHAEE 5,000 1=t 5,000
&5t 37,510




[E2—4a) &RHELE:3AM. ERET:3E8M/)

O—X: BH==rhii— [FREFEE ] - 5%

DMV:EFTRM: E&fF=>khi 7.2km
Y. £—1& 158 (B FFA)
-1 HME WEE #s
MEER RIS E—RAUE—FIID 2,000 1 & 2,000 | &= #ER
E—FICEERH 2,245 1= 2,245 | & #ER(1,245)+ H#2ER(1,000)
B (BRI 100 15 EFr 1,500 |5 —F& 15 FT
BREE | XEDEE- KR 6,370 1= 6,370 [Fay sz, IvoRILIKHE, BREZED
FhEERER B 80 2 & 160 |5 I 2558
B ERO—THE 35 15 & 525 |7 A7 ILMBRU ST
INEE 12,800
ANGEE By |iR1EE 35 99 A 3,465 |15 Fx ((ALAN/EFT*38) xF #2281 +1Ax38)
FEHEE (HHEER) 10 45 A 450 |15E /A1 A/E /=38
RBERLEES 1 54 A 54 |15&Frx (LAxF{m2E]) <38 (REH)
BEEETR 3000 1% 3000 (RS TLO BILH. RARTE.
Bt 500 2 A 1,000 |FHE(SAM) &L
INEE 7,969
HEELE 2,500 2 5,000 |GHER + AREST
JRILBEI R 10,000 1 10,000 Eﬁgﬁ%&ﬁggﬁgﬁ%ﬁfﬁéft”
HREL. RGEIRRAEHMES 0 1= 0 [JRitiBERERS
PRZ 1,000 1= 1,000 |/X>TLwh, R AEPHES
FIE/ITAREY EIF 25 6 & 150 [2&x%3H
BERE 100 1= 100
ERHERTCHEE 5,000 1=t 5,000
&5t 42,019
[E—4b)] (mRHELER:3AM. RBRET:3BM)
a—X: &fF==AJKREY — [FEEithiEEE] — =&
DMV:EfTEM: &% =>8)IIKERY 3.2km
By ¥—78 8t (B2 FH)
-1 HE WEE &5
MEER RIS E—RAVE—FIP 2,000 1 & 2,000 |Z#ER
E—FICEER{H 1,445 1= 1,445 |&#%ER(1,245)+ BJIIKEHEI(200)
B (BRI 100 8 BT 800 |5 —7#& 8EfT
BREE | EEDIEE- R 6,326 1= 6,326 [Fay oz, IJvoRILIKHE, BREZED
FhEERER B 80 1 & 80 |/ I35 ED
B ERO—THEk 35 8 &HFT 280 |7 A7 ILMERUG T
INEE 10,931
ANGEE By |iR1EE 35 53 A 1,855 |8&RTx ((LA/BAx3H)xF{H2E|+1Ax3H)
FEHEE (HHEER) 10 24 A 240 |8 FTx1A/E %3R8
REREIEES 1 29 A 29 |8&FIx (LAXF 28 x38 (REK)
BEETR 3000 1% 3000 (RS EAO KIS, AR,
Bt 500 2 A 1,000 |FHE(SAM) &L
INEE 6,124
EHHELE 2,500 2 | 5,000 |HER + ARFEST
JRIALBEI R 10,000 1 10,000 Eﬁgﬁ%&ﬁggﬁ%ﬁ%ﬁfﬁéft”
HREL. RGEIRRAKHMES 0 1= 0 [JRitiBEREES
PREMH 1,000 1= 1,000 |[/82TLyb, K RNEREE
BB IT/AREY £ 25 65 150 [2&x%3H
BERE 100 1= 100
ERHERTCHAEE 5,000 1=t 5,000
&5t 38,305






